HAF 1S (F25ERF)

EEXZMBEECEE D& RFE

I
ITROFEICHTHE

ZEEE T X FERLEE P I i)
! !

ERIRME=LERETEME xFRLLER

] . il El 0 R = e e
REEWTER )HEE il
E E E E E 1 E =]
R s7 2 %% PR omugme SEEBER B it E
e LI i 54 Wi Gl Ha g
&t BB Z = = Mh
BENmE A= 17550 m
B K TR A= 160 m
AiREE A= 17,550 m
XFEIH 3H25H
B B iz T ¥ @ T B ¥ [ T =B 18
iz T % & &
BEEICHTIEIEEE
T ES 1 #% M &
AERRENITISHE
H OB B oM N 8 & &
E B8 Rk T & & &
#2
#z2




20 LR iRt EEEEE iR &
g H I & | 5 ) B8 B = Bf; | B ff %5 H =
EiEE
RIEER 1 5 B
BHhEE |HERE I (B0 FE3[E 6,950.00 m
| Rifi% 2 =
BHIRE I (BH=X+/1\2RH(FH) F3[[ 10,600.000 m
Rifik 3 5
TARAA F£1[H 160.000 m
Rifik 4 5
N F1[H 160.00] m
Rifik 5 5
BETE 50.00] &
Rifik 6 =
ZDfth ERIBRE F20 2,000.00, m
Rifik 7 5
EBREER F i 17,550.00, m
EEEE
R op
HEE
XAl =
EHERAELLE

EHREEH




K =




B 1 =
HWHIRE 1 (F#H) BRE &5 HAH - Eil 1000 n2 HY — 1 K fi *
g4 4 ) ® B & % =2 B i & %8 i %
T AR—ARHEER A
el ES] A
TREXS A
BEXE A
BN Bz - hys—E255m =|
299 TR EHE SR B RffizE 10 S5
EME =X 1.000
0.24kg/n2
no& ME kg 240.000
it
—Hif 4y
wmiER |5 1 B




£ 2 =

wHRE IR BRE SRR HAK Bk 10000 n2 #HY — 1 K ffi =*F

% FR ) % B Of = B (i s %8 1% %=
AR — M HEER A
IR IEES A
LTEEES A
BIEXR A
BN Bz - hys—E255m =|
B L NUNDAN S - /39 % B - WIIE95cm H
b797 TER-EHEE2E B P KifiE 10 SSE
EME 2 1.000
no& ME kg 240.000

&t
—Hif 4y

oy

Jjn




5 3 B
TARNA H=1.5nek i 1000 nm2 Y — {1 K ffi =
£ 1 R B = B i & 8 1 E:3
EET
LTBEXE
VDY, L¥ 25— L 1.200
Fi-vY- #% £.500mm AR
f7v )& i 2t = KRifizE 8 BSBE
0.12kg/n?
nngE M E ke 12.000
=M 7 X 1.000
&t
—HfSyY
mEm | 3 0B




£ 4 5
TARAKRE 1000 n2 &Y — {1 K i *x
£ G 3 B = B fiff & %8 it =
BiEXB A
b4 LER - EHEE2uE RIEE 9 BSSHE
0.12kg/n?
N b kg 12.000
&t
— B8y
#HEm ([ 4 0B




BB EZER 60cmil k£ 90cnik i 100 X &Y — 1 K i *x
£ G 3 % B 4 = B fiff & %8 it =

EET A

LEEER A

b7y E 2t = RiEE 8 BSHE
20kg/ A

nn & BER kg 200.000

R A = 1.000

&t
— B8y

#HEm (2 5 0 0B




RFRIRE PREHI A 1000 n2 Y — & K fi F

g4 4 ) % B Of = B i & %8 i %
EET
TEEES
B3 790 Ty7 R 50fE &R L 1.000
b597 LA EHEE U RifisE 9 SBMH@
EME IEHEEEQMRH-BHF { 1.000

&t
—Hif 4y
MED | 6 05




£ 1 =
EERE &3 1000 ng ZHY — f1 K fi *
G #R ) B I =3 B i £ £ i =
BEXE A
nor&E EBE ke 16.800 0.014kg/n2 x 100n2 x £E12[H]
&t
—HMHY

MHiEH | B 7

Jjn




g 8 B
v E 2t 10 & &Y — i K fi *
g4 4 ) ® B & % =2 B i & %8 i %
799 TR EHE SR B RffizE 10 S5
it
—Higy
wET | E 5




g 9 =B
b7v9 TR -REEE2E 10 B &Y — 8 K i &

g4 4 ) % B | % = B i & %8 i
—REERF A
L2 9: 1.2%5 (ELRA) L 25.000
b597 LA EHEE U #AA
i A 2 1.000

&t
—Hif 4y
AT 5




g 10 &
VY] TR -REEE2E 10 B &Y — 8 K i =

% i 5i) B fI =2 B fif & 8 i 3
—REERF A

L2 9: 1.2%5 (ELRA) L 4.200

299 TR -EHE SR B ]

it
— B4
#MiETR |85 10 B




